Y4 - Autumn - Block 1 - Step 7 - The number line to 10,000 Answers
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a) A=2000 B=7500 C=9990
b) Any three numbers between 2,000 and 7,500

If it went up in 1,000s there would be 10 intervals between O and 10,000
There are 20 intervals on the number line so it goes up in 500s.

a) Various possible answers as long as they are an equal distance from 2,400 e.g. 2,300
and 2,500, 2,390 and 2,410, 1,400 and 3,400

b) Various possible answers as long as 2,400 is approximately % of the way between e.g.
2,100 and 2,500, 2370 and 2,410




